[Compamy Name]
Customer Profitability Analysis
[Date]

Gray cells will be caleulated For you. You do not need bo enber anything inko them

[Segment Hame] [Segment Hame] [Segment Hame] Cwerall

Customer Activity:

Mumber of active customers—Beginning of pericd 5 8 = 2
humiber of customers added 4 4 n
Mumibes of sustamer s [ost/terminated (1 (2] [2] [5
Mumber of active customers—End of period B i U] 26
Profitability Analysis:
Rewveriue per Segmenit F1L500,000 41,800,000 42,500,000 45,800,000
‘wieighting 284K L REES LA LIl
Cost of sales:
Ormoing Sewvice snd Suppon costs S0 000,000 41,400,000 S1.400,000 43,800,000
Cither direct customer costs 200,000 00, 0 00,000 400,000
Total cost of cales $1.200,000 $1.500,000 31,500,000 $4. 200,000
Giross margin £300,000 $300,000 $1,000,000 mmﬂ:ﬂml
‘weighting -EEY 15 [
Oeher caosts:
Customer aoquisition 905,000 $E20,000 235,000 S4E0, 000
Customer marketing 60,000 25,000 275 000 50,000
Customiss benmination 20,000 E30, 000 140,000 490,000
Total other customer costs $335.000 $435,000 $650,000 $1.420,000
Customer profit by segment 13350000 855, 000) 350,000 150,000
‘Weighting 0oz LI LTSS LUt
Summary Metrios:
[Seqment Name] [Segment Name] [Segment Mame]
Huerage ocost per acquired customer 526500 $20,000 £658. 7650
Aerage ¢St per leminated customer 80,000 $405, 000 £70,000
Bperage marketing cost per active customer F25.000 S12.500 27500
Auverage profi [loss) per customer [£5.53%) (135000 £35 000




